Enstru@enter.:nm Ol oiniue Sl jagad 2z 40

High Pressure Single Vane Pump r
HT6GC Series (TRUCK Pump) E HOF

Features

« HT6GC Series is a fixed displacement and balanced
type single vane pump. The pump is designed for higher
load than HT6CM pump by having double row ball bearing
with needle bearing and 2 shaft seals.

+ Can be connected to PTO directly.

HOE"

www.hofhydraulic.com

} 48
wwWw.instrucenter.com/fa



Enstru@enter.:nm

Ol el mies Dl fagad m g

Ordering Code Single Vane Pump

Model Series
HT6GC

Ring Size (USgpm)

Shaft

6 - Splined (DIN 5462)

Shaft Rotation

(Viewed from shaft end)

R - Turn right
L - Turn left

HT6GC - 022 - 6 R 00 - 00

Inlet Port position

HT6GC - 003, 005, 006, 008, 010, 012, 014
017, 020, 022, 025, 028, 031

00 - Flange 1” BSPP

01 - Flange 1” SAE 4 bolts (UNC)

M1 - Flange 1” SAE 4 bolts(Metric)

(Viewed from cover end)
00 - Opposite Outlet

02 - 90° CCW from Outlet
01 - Inline with Outlet

03 - 90 CW from Outlet

03

tHOF”

i 49
wwWw.instrucenter.com/fa

www.hofhydraulic.com



Enstru@enter.:nm

Ol el mies Dl fagad m g

Installation Dimensions mm (inch)

* Performance Characteristics same as HT6C *

215.5 55.0
(8.484) (2.16)
82.6 92.0 37.85 3.0x30°
(3.25) (3.62) (1.49) (0.12x30°)
15.0 1.95/1.85
[___“ﬁ | (0.60) (0.08 /0.07) ==
‘ ! 25.96 / 25.95 = §
— (1.022 /1.021) == NS
E 215 NE
— gs 5
:H L// S|F \.£8.20/805
9.0 3% (0.32370316)
/__Mounting Torque / (0.35) S Z
159 Nm (117 ft.los) 36.8 S8
DRAIN_HOLE BETWEEN TWO SHAFT SEALS (1.:49) 7= (;‘%% (‘1“,)5(;)
117.6
(4.63)
1/2-13UNC x 0.9 DEEP - 4 HOLES
(M12x22.4 DEEP) 3/8-16UNC x 0.75 DEEP - 4 HOLES
35.8 26.2 (MT0 x 19.0 DEEP) CODE 00
(1.41) (1.031)
& o O
o3 S <8 _ r/}
K|l oyl \QJ/
N o, W ~
QO ©
= _— U L oo
®38.1 | $25.0 |
(1.50) (1.00)
Specifications HT6GC
Size | Displacement | Max Min Max Max Weight
Speed | Speed | Intermittent | Continuous
Pressure Pressure
cm’/r (ina/ r) rpm rpm bar (psi) bar (psi) kg (Ib)
003 10.8 (0.66)
005 17.2 (1.05)
006 21.3 (1.30)
008 26.4 (1.61)
010 34.1 (2.08) 2800 600
012 37.1(2.26) 280(4000) | 240 (3500)
014 46.0 (2.81) 17.5(38.5)
017 58.3 (3.56)
020 63.8 (3.89)
022 70.3 (4.29)
025 79.3 (4.84)
028 88.8 (5.42) 2500 600
210 (3000) 160 (2300)
031 100.0 (6.10)

*HOFE"

. 50
www.instrucenter.com/fa

www.hofhydraulic.com



Enstru@enter.cnm Ol oinion S perdarss

High Pressure Double Vane Pump -
|

HT6/HT7/HT67 Series HO [

Features

« Fixed displacement and balanced type double vane
pumps. The pump is designed for higher operating pressure
and greater flow at the same housing size.

* With a balanced pin-vane design, outlet pressure is
continuously applied only to the pin. The pin provides the
steady light force against the vane. Top and bottom areas
of the vane are subject to the same pressure, either inlet
or outlet pressure, depending on the vane's location during
rotor rotation. This pin-vane design minimizes noise level
and improves volumetric efficiency.

«  With the cartridge independent of the shaft, allowing for
easy change of flow capacity and field servicing without
removing the pump from its mounting.

*HOFE"

www.hofhydraulic.com

- 5
WwWW.instrucerter.com/fa



[ . =
Ordering Code

Ol el mies Dl fagad m g
Double Vane Pumps HT6, HT7, HT67

HT6CCMW - 031

- HT6CC, HT6DC, HT67DC, HT6EC
HT67EC, HT6ED, HT7ED, HT7EDS
Mobile 1 shaft seal (M) -HT6CCM, HT6DCM, HTEECM, HTEEDM
Mobile 2 shaft seals (P) - HT6CCP, HT6DCP, HT6ECP, HT6EDP
Severe Duty shaft (W)

005 -

Model Series

Industrial

HT67DCW

Shaft End Pump
Ring Size (USgpm)

6C - 003, 005, 006, 008, 010, 012, 014, 017, 020, 022, 025, 028, 031
6D - 014, 017, 020, 024, 028, 031, 035, 038, 042, 045, 050

67D - 014, 017, 020, 022, 024, 028, 031, 035, 038, 042, 045, 050

6E - 042, 045, 050, 052, 062, 066, 072

67E, 7TE - 042, 045, 050, 052, 054, 057, 062, 066, 072, 085

Cover End Pump

Ring Size (USgpm)

6C - 003, 005, 006, 008, 010, 012, 014, 017, 020, 022, 025, 031
6D - 014, 017, 020, 024, 028, 031, 035, 038, 042, 045, 050
67D, 7D - 014, 017, 020, 022, 024, 028, 031, 035, 038, 042, 045, 050

Shaft

For HT6CC, HT6CCM

1 - No SAE Keyed Shaft
3 - SAE BB Splined Shaft
5 - SAE B Splined Shaft

5 - No SAE Keyed Shaft

T - SAE J718c Splined Shaft
(HT6DCMW only)

For HT6CCW, HT6CCMW
2 - SAE BB Keyed Shaft

R - Special Keyed Shaft
(HT6CCMW only)

X - Special Keyed Shaft
(HT6CCMW only)

1 - SAE CC Keyed Shaft
2 - No SAE Keyed Shaft
3 - SAE C Splined Shaft
4 - SAE CC Splined Shaft

T - SAE J718c Splined Shaft (HTBECM onl
W - Special Keyed Shaft SAE J718c Splined Shaft (HTGECM only) — !”
(HT6CCMW only) 3 - No SAE Splined Shaft (HTEECP only) o by s 0,
) 07— P2 408 04 P2 (=11
V - Special Keyed Shaft For HT6ED, HT6EDM, HT6EDP, HT7ED, g =g

(HT6CCMW only)

T - SAE J718c Splined Shaft
(HT6CCMW only)

HT7EDS

For HT6CCP

3 - No SAE Splined Shaft
4 - SAE BB Splined Shaft
6 - No SAE Splined Shaft

5 -1SO R775-G38M Keyed Shaft

(HT7ED, HT7EDS only)

3 - No SAE Splined Shaft
(HT6EDP only)

T - SAE J718c Splined Shaft
(HT6EDP, HTGEDM only)

For HT6DC, HT6DCM, HT6DCP,
HT67DC

1 - SAE C Keyed Shaft

2 - No SAE Keyed Shaft
3 - SAE C Splined Shaft
4 - No SAE Splined Shaft
3 - No SAE Splined Shaft (HT6DCP only)

- HT6CCW, HT6CCMW, HT6DCW, HT6DCMW,

For HT6DCW, HT6DCMW, HT67DCW

For HTGEC, HT6ECM, HT6ECP, HT67EC

1 - SAE CC Keyed Shaft (Except HT7ED)
2 - No SAE Keyed Shaft (Except HT7ED)
3 - SAE C Splined Shaft (Except HT7ED)
4 - SAE CC Splined Shaft (Except HT7ED)

1R 00 -

K

Shaft Rotation

(Viewed from shaft end)

R - Turn right
L - Turn left

[e]

Port Position

(Viewed from cover end)

For all models except HT6ED, HT6EDM, HT6EDP,
HT7ED, HT7EDS

2 digits code presents the position of cover end outlet
(P2) at various positions of shaft end outlet (P1) and
inlet (S)

Port Connection
00 - UNC Port Connection
MO - Metric Port Connection
For HT6CC only

CODE 4 bolt SAE flanges
UNC Metric P1 P2 S
00 oM 1" 1" 3"
01 MO 1" 3/4" 3"
10 1M 1" 1" 21"
11 M1 1" 3/4" 21/2"

*HOF"

52
www.instrucenter.com/fa

www.hofhydraulic.com



] !nl - [ ] 3 = -
Enstru@enier.:nm Ol g2l imisn O jagad a2 o

Specifications HT6, HT67, HT7 Series industrial application
HT6CC, HT6CCW for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm’/r 1(in’fr) bar (psi) bar (psi) cm®r 1(in’fr) bar (psi) bar (psi) rom om kg (Ib)
003 10.8 (0.66) 003 10.8 (0.66)
005 17.2 (1.05) 005 17.2 (1.05)
006 21.3 (1.30) 006 21.3 (1.30)
008 26.4 (1.61) 008 26.4 (1.61)
010 34.1 (2.08) 010 34.1(2.08)
012 37.1(2.26) 275 (4000) 240 (3500) 012 37.1(2.26) 275 (4000) 240 (3500)
15.0
014 |  46.0(2.81) 014 | 46.0(2.81) 600 2800 (34.0)
017 58.3 (3.56) 017 58.3 (3.56)
020 63.8 (3.89) 020 63.8 (3.89)
022 70.3 (4.29) 022 70.3 (4.29)
025 79.3 (4.84) 025 79.3 (4.84)
028 | 888(542) 206 (3000) | 160(2300) 028 | 888(542) | 5053000y | 160 (2300)
031 100.0 (6.10) 031 100.0 (6.10)
HT6DC, HT6DCW for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm’/r 1(in’fr) bar (psi) bar (psi) cm®r 1(in’fr) bar (psi) bar (psi) rom rom kg (Ib)
014 47.6 (2.90) 003 10.8 (0.66)
017 58.2 (3.55) 005 17.2 (1.05)
020 66.0 (4.03) 006 21.3 (1.30)
024 79.5 (4.85) 008 26.4 (1.61)
028 89.7 (5.47) 010 34.1 (2.08)
031 98.3 (6.00) 240 (3500) 206 (3000) =15 37.1(2.26) 275 (4000) | 240 (3500) 370
035 | 111.0(6.77) 014 | 46.0(2.81) 600 2500 (82.0)
038 120.3 (7.34) 017 58.3 (3.56) '
042 136.0 (8.30) 020 63.8 (3.89)
045 145.7 (8.89) 022 70.3 (4.29)
050 158.0 (9.64) 206 (3000) 160 (2300) | 025 79.3 (4.84)
028 88.8 (5.42)
031 100.0 (6.40) 206 (3000) 160 (2300)
HT67DC, HT67DCW for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm¥r 1(in’r) bar (psi) bar (psi) cm’/r 1(in’/r) bar (psi) bar (psi) om om kg (Ib)
014 47.6 (2.90) 003 10.8 (0.66)
017 58.2 (3.55) 005 17.2 (1.05)
020 66.0 (4.03) 006 21.3 (1.30)
022 70.0 (4.27) 300 (4350) 008 26.4 (1.61)
024 79.5 (4.85) 250 (3600) | 010 34.1(2.08)
028 89.7 (5.47) 012 37.1(2.26) 275 (4000) 240 (3500) 370
031 98.3 (6.00) 014 | 46.0(2.81) 600 2500 (82.0)
035 111.0 (6.77) 017 58.3 (3.56) ’
038 120.3 (7.34) 280 (4060) 020 63.8 (3.89)
042 136.0 (8.30) 260 (3770) 235 (3400) 022 70.3 (4.29)
045 145.7 (8.89) 240 (3500) 206 (3000) 025 79.3 (4.84)
050 158.0 (9.64) 206 (3000) 160 (2300) 028 88.8 (5.42)
031 100.0 (6.10) 206 (3000) 160 (2300)

:HOF”

www.hofhydraulic.com

53
wwWw.instrucenter.com/fa



i > gl ol T il jagmd
Enstru@e nter.com Ol oiniue Sl jagad 2z 40
Specifications HT6, HT67, HT7 Series industrial application

HT6EC for Double pump

Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm’r 1(in’/r) bar (psi) bar (psi) cm’r 1(in’/fr) bar (psi) bar (psi) om om kg (Ib)
042 132.3 (8.07) 003 10.8 (0.66)
045 142.4 (8.70) 005 17.2 (1.05)
050 158.5 (9.67) 006 21.3 (1.30)
052 164.8 (10.00) 240 (3500) 206 (3000) 008 26.4 (1.61)
062 | 196.7 (12.00) 010 34.1(2.08)
066 213.3 (13.00) 012 37.1(2.26) 275 (4000) 240 (3500) 54.2
072 | 227.1(13.86) 014 46.0 (2.81) 600 2200 (119.5)
017 58.3 (3.56) '
020 63.8 (3.89)
022 70.3 (4.29)
025 79.3 (4.84)
028 88.8 (5.42)
2 1 2
031 100.0 (6.10) 06 (3000) 60 (2300)
HT67EC for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
cmr 1(in%r) bar (psi) bar (psi) cm’r 1(in’/fr) bar (psi) bar (psi) rom om kg (Ib)
042 132.3 (8.07) 003 10.8 (0.66)
045 142.4 (8.70) 005 17.2 (1.05)
050 158.5 (9.67) 006 21.3 (1.30)
052 164.8 (10.00) 008 26.4 (1.61)
054 173.8 (10.60) 240 (3500) 206 (3000) | 010 34.1(2.08)
057 180.7 (11.02) 012 37.1(2.26) 275 (4000) 240 (3500) 54.2
062 | 196.7 (12.00) 014 46.0 (2.81) 600 2200 (119.5)
066 | 213.3(13.00) 017 58.3 (3.56) '
072 | 227.1(13.86) 020 63.8 (3.89)
085 269.8 (16.40) 90 (1300) 75 (1100) 022 70.3 (4.29)
025 79.3 (4.84)
028 88.8 (5.42)
031 100.0 (6.10) 206 (3000) 160 (2300)
HT6ED for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm®r 1(in’r) bar (psi) bar (psi) cm®r 1(in%r) bar (psi) bar (psi) om rom kg (Ib)
042 132.3 (8.07) 014 47.6 (2.90)
045 142.4 (8.70) 017 58.2 (3.55)
050 158.5 (9.67) 020 66.0 (4.03)
052 164.8 (10.00) 240 (3500) 206 (3000) 024 79.5 (4.85)
062 196.7 (12.00) 028 89.7 (5.47)
066 | 213.3(13.00) 031 98.3 (6.00) 240 (3500) 206 (3000) 600 2200 ( 16;12'50)
072 | 227.1(13.86) 035 111.0 (6.77) '
038 120.3 (7.34)
042 | 136.0(8.30)
045 | 145.7 (8.89)
050 | 158.0(9.64) 206 (3000) 160 (2300)

: HOF ’ 54 www.hofhydraulic.com

wwWw.instrucenter.com/fa



> gl ol T il jagmd
Enstru@e nter.com Ol oiniue Sl jagad 2z 40
Specifications HT6, HT67, HT7 Series industrial application

HT7ED,HT7EDS for Double pump

Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm’/r 1(in’/r) bar (psi) bar (psi) cm’/r 1(in’fr) bar (psi) bar (psi) rom rom kg (Ib)
042 132.3 (8.07) 014 47.6 (2.90)
045 142.4 (8.70) 017 58.2 (3.55)
050 158.5 (9.67) 020 66.0 (4.03)
052 164.8 (10.00) 022 70.0 (4.27) 300 (4350)
054 173.8 (10.60) 240 (3500) 206 (3000) 024 79.5 (4.85) 250 (3600)
057 180.7 (11.02) 028 89.7 (5.47) 64.5
22
062 | 196.7 (12.00) 031 98.3 (6.00) 600 00 (142.0)
066 | 213.3(13.00) 035 111.0 (6.77)
2 4
072 | 227.1(13.86) 038 120.3 (7.34) 80 (4060)
085 269.8 (16.40) 90 (1300) 75 (1100) 042 136.0 (8.30) 260 (3770) 235 (3400)
045 145.7 (8.89) 240 (3500) 206 (3000)
050 158.0 (9.64) 206 (3000) 160 (2300)

: HOF ) 55 www.hofhydraulic.com

wwWw.instrucenter.com/fa



Ol el mies Dl fagad m g
HT6 Series mobile application

HT6CCM, HT6CCP, HT6CCMW for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm®r 1(in%r) bar (psi) bar (psi) cm®r 1(in*r) bar (psi) bar (psi) rom om kg (Ib)
003 10.8 (0.66) 003 10.8 (0.66)
005 17.2 (1.05) 005 17.2 (1.05)
006 21.3 (1.30) 006 21.3 (1.30)
008 26.4 (1.61) 008 26.4 (1.61)
010 34.1 (2.08) 010 34.1 (2.08)
012 37.1(2.26) 275 (4000) 240 (3500) 012 37.1(2.26) 275 (4000) 240 (3500) 15.0
014 |  46.0(2.81) 014 | 46.0(2.81) 400 2800 (34.0)
017 58.3 (3.56) 017 58.3 (3.56)
020 63.8 (3.89) 020 63.8 (3.89)
022 70.3 (4.29) 022 70.3 (4.29)
025 79.3 (4.84) 025 79.3 (4.84)
028 | 8838 (5.42) 206 (3000) | 160 (2300) |-028 1 888(542) | ;46 3000) | 160 (2300)
031 100.0 (6.10) 031 100.0 (6.10)
HT6DCM, HT6DCP,HT6DCMW for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm’/r 1(in’fr) bar (psi) bar (psi) cm®r 1(in’/r) bar (psi) bar (psi) om rom kg (Ib)
014 47.6 (2.90) 003 10.8 (0.66)
017 58.2 (3.55) 005 17.2 (1.05)
020 66.0 (4.03) 006 21.3 (1.30)
024 79.5 (4.85) 008 26.4 (1.61)
028 89.7 (5.47) 010 34.1 (2.08)
24 2
031 98.3 (6.00) 0 (3500) 06 (3000) 012 37.1(2.26) 275 (4000) 240 (3500) 37.0
035 111.0 (6.77) 014 46.0 (2.81) 400 2500 (82.0)
038 120.3 (7.34) 017 58.3 (3.56) '
042 136.0 (8.30) 020 63.8 (3.89)
045 145.7 (8.89) 022 70.3 (4.29)
050 158.0 (9.64) 206 (3000) 160 (2300) | 025 79.3 (4.84)
028 88.8 (5.42)
031 100.0 (6.10) 206 (3000) 160 (2300)
HT6ECM, HT6ECP for Double pump
Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm¥r 1(in*r) bar (psi) bar (psi) cm®r 1(in’*/r) bar (psi) bar (psi) om rom kg (Ib)
042 132.3 (8.07) 003 10.8 (0.66)
045 142.4 (8.70) 005 17.2 (1.05)
050 158.5 (9.67) 006 21.3 (1.30)
052 164.8 (10.00) 240 (3500) 206 (3000) 008 26.4 (1.61)
062 196.7 (12.00) 010 34.1(2.08)
066 | 213.3(13.00) 012 37.1(2.26) 275 (4000) | 240 (3500) 542
072 | 227.1(13.86) 014 46.0 (2.81) 400 2200 (119.5)
017 58.3 (3.56) '
020 63.8 (3.89)
022 70.3 (4.29)
025 79.3 (4.84)
028 88.8 (5.42)
2 1 2
031 100.0 (6.10) 06 (3000) 60 (2300)

*HOFE"

www.hofhydraulic.com

. 56
wwWw.instrucenter.com/fa



Enstru@enter.:nm Ol oiniue Sl jagad 2z 40

Specifications HT6 Series mobile application

HT6EDM, HT6EDP for Double pump

Shaft End Pump Cover End Pump Min. Max. Weight
Size | Displacement Max. Max. Size | Displacement Max. Max. Speed | Speed
Intermittent | Continuous Intermittent | Continuous
Pressure Pressure Pressure Pressure
cm’/r 1(in*r) bar (psi) bar (psi) cem’/r 1(in*r) bar (psi) bar (psi) rom rom kg (Ib)
042 132.3 (8.07) 014 47.6 (2.90)
045 142.4 (8.70) 017 58.2 (3.55)
050 158.5 (9.67) 020 66.0 (4.03)
052 | 164.8 (10.00) 240 (3500) 206 (3000) | 024 79.5 (4.85)
062 | 196.7 (12.00) 028 89.7 (5.47)
066 | 213.3(13.00) 031 98.3 (6.00) 240 (3500) 206 (3000) 400 2200 (&42'%)
072 | 227.1(13.86) 035 111.0 (6.77)
038 120.3 (7.34)
042 136.0 (8.30)
045 145.7 (8.89)
050 158.0 (9.64) 206 (3000) 160 (2300)

*HOFE"

www.hofhydraulic.com

- 7
www. instrucéhter.com/fa



Enstru@enter.:nm

Ol el mies Dl fagad m g

Installation Dimensions mm (inch)

HT6CC, HT6CCM

A2 Al 12.7 455 40.7
(.50) (1.79) (1.60)
26.2 24.5 | 24.5
1.03 /[_ (:96) r (.98)
) 1K
Shaft 3 Shafts
J SAE BB Splined Shaft SAE B Splined Shaft
2 — T =1~ Class 1-J498b 15 Teeth T E Class 1-J498b 13 Teeth
{ 30 Degree Pressure Angle 30 Degree Pressure Angle
16/32 Pitch 16/32 Pitch
Major Dia Major Dia
= 24,98/24.71(.983/.973) - 21.79/21.54 (.B58/.848)
J : Minor Dia = Minor Dia
o = : 21.80/21.53 (.858/.848) L 18.62/18.34 (.733/.722)
Outlet Port 1 / Flat root side fit Flat root side fit
P2 I 3/8™-16UNC x 0.75 DEEP - 4HOLES
Qi 254,000 M10 x 19,0 DEEP
3/8"-16UNC x 0.75 DEEP - 4HOLES :
M10 = 19.0 DEEP
174.5
88.2 1016 38.1 58.2 (6.87)
Mounting Torque (3.47) {4.00) 1150 | (2.29) ; 146.0 ;

61 Mmy,\s ft.Ibs)

Shaft 1
Y ; S1L Keyed Shaft
T | | )\ - (1.25) 4.76/4.71 5Q KEY
/ | /(.13?:.135]
84.1 B 76.2
(3s31) E (3.00)
l l ! i l pd ,
= P S — 1 I i I =
T = [
73.2
(2.88) H 1.5 (.06)
E ]E/ - — %45 DEG
iq DIA 101.6 DIA 14.2
24,53 (.97)— (4.00) (56
265.6 8.7 DIA 22.225/22.200 | Mounting Torque
(10.46) (.38) (.875/.874) 159 Nm (117 ft.Ibs)
Inlet Port Size s Al B1 D
v 5/8"-11UNC x 1.12 DEEP
3 76.2(3.00) | 61.9(2.44) |106.4(4.19) M4 235 1 DEEE
1/2"-13UNC x 0.94 DEEP
o 63.5(2.50) | 50.8(2.00) | 88.9(3.50) N2 x 23.0 DEEP
Cover End Outlet Port Size P2 A2 B2 E
1" 25.4(1.00) | 26.2(1.03) | 52.4(2.06) | 74.7(2.94)
3/4" 19.0(0.75) | 22.4(0.88) | 47.7(1.88) | 76.2(3.00)

Performance Characteristics HT6CC, HT6CCM

OPERATING CHARACTERISTICS - TYPICAL [115 SUS]

Pressure | Series Volumetric Flow Q) [GPM] & n = 1800 RPM Input power P [TTP] & n = 1800 RPM
port Displacement p=0PSI |p=2000PSI p=3500PS1 p=100PSI p=2000PSI|p=3500PSI
03 6in'rev 5.14 3.01 - 2.11 8.45 -
05 | 1.05in*ev 8.18 6.65 5.56 2.29 12.00 19.59
06 1.30 infrev 10.13 8.60 7.51 240 14.28 2337
08 | 161 infrey 12.55 11.02 9.93 2.54 1711 28.53
Pl 10 2.08 in’frev 16.22 14.69 13.60 2.76 21.38 36.00
12 226in'frev 17.64 16.11 15.02 2.84 23.05 38.92
& 14 2.81 infrev 21.88 20.35 19.26 3.09 27.99 47.56
pa 17 | 3.56in’rey 2773 26.20 8511 343 34.81 59.51
20 3.89 infrev 30.34 28.81 27.42 3.58 37.86 64.83
2 | 429in’frev 33.43 31.90 30.81 3.76 41.47 71.16
o5 4.84 in*frev 37.71 36.18 35.00 4.01 46.46 79.90
28" 542indirev 42.23 40.70 39.94% 427 51.74 76.73"
| 3D 6.10 infrev 47.56 46.03 45.27% 4.58 57.95 86.06°
1) 25-28- 31 2500 RP.M max. 2) 28~ 31 3000 PSI mav. int.

- Not to use because internal leakage greater than 30% theoretical flow.  Port connection can be furnished with metric threads.

:HOF”

58 www.hofhydraulic.com

wwWw.instrucenter.com/fa



- I I [ ] I:II - -
Ensiru@enter.:nm Ol g2l pimie S jagad m= pe
Installation Dimensions mm (inch) HT6CCW, HT6CCMW, HT6CCP

A Al 127 ) 1 880 64.1
(.50) (350 (2.52)
26.2 - 500
(1,03 AF (1.:%8) HTecCMw . 1.7 KEY 6.35/6.30
LB . KEV4000010.90 (0.46) (0.250/0.248)
L (0.0645°) g (0,394 /0.393) il 49.2
{ M12x1.18 DEEP | 0 9'4} M8x0.63 DEEP
gl /300) : {16.0)
. At |/
| gr=—1 3 U = !
2 i Y
v = %
Slz S
B = 8 8=
o = | Bz R
28 alg M=
/ SHAFT V gle 1.5x45° | &2 =
P’ . Keyed Special (0.06x45% al=
tlet 1
P2 Dmo;; (1?203 3/8™-16UNC x 0.75 DEEP - 4HOLES SHAFT X
3/8"-16UNC x 0.75 DEEP - 4HOLES Witx R0 REER Keyed Special
M0 x 19.0 DEEP
L 1745 ol
; 88.2 101.6 381, HT6CCW,HT6CCMW (6.87)
Mounting Torque (3.47) (4.00) T'-SGT 146.0
61 Nm_(_«t\s ft.Ibs) l ‘;18-3] > .
N AL |
- I L |l ceveasian
84.1 L. / 76.2 (0.250/0.248)
(331) E \ (3.00) A %&5}_&&
'_L_.ﬁ"
l A = S &= ]
e o R = L :
T iy % )
732 pi
(2.88) zN o
[ E— i
g / s DIA 101.6 DIA 142 |
SHAFT 2 (4.00) (.56)
8 265.6 o 9.7 Keyed Shaft SAE BB Mounting Torque
{10.46) (:38) 159 Nm (117 ft.Ibs)
48,7 555 "
e ™ BRI - ks >
1, 381, 8.0
5 urecomw *05 " yrecemw " ew " Hrecomw
15045 Lo B HPEE T P—— — 38.0
[(0.085457) | - Kﬁggg?;_g;ﬁ fkay 10.312/0.310) > 4 £54/858 (149) %
M8 x 0. 63 DEEP. " M6 x 0,63 DEEP (0.34/033) Ll 10_275)
E ‘-'us.na Y t1i03
B /R T T
A= ne ¢ \ 2
: | &2 H—af 58 ¢
N Yy _
92 cg 0281412789 Sig 2
el3 b S (1107109 e -
| wl g o b
ég e E§ By | | 2
U SHAFT R SHAFT w 8% g SHAET T <
Keyed Special Keyed Special Splined SAE J718¢
540 rpm power take-off
Inlet Port Size S Al B1 D For Farm Tractor application
5/8"-11UNC x 1.12 DEEP
o 76.2(3. 1.9(2.44) 1106.4(4.1
. SN | | i M16 x 28.4 DEEP
1/2"-13UNC x 0.94 DEEP
2" 63.5(2.50) | 50.8(2.00) | 88.9(3.50
i 50) (200) (301 M12 x 23.9 DEEP
Cover End Outlet Port Size P2 A2 B2 E
1= 25.4(1.00) | 26.2(1.03) | 52.4(2.06) | 74.7(2.94)
314" 19.0(0.75) | 22.4(0.88) | 47.7(1.88) | 76.2(3.00)

: HOF ) 59 www.hofhydraulic.com

wwWw.instrucenter.com/fa



Enstru@enter.:nm Ol oiniue Sl jagad 2z 40

Performance Characteristics HT6CCW, HT6CCMW, HT6CCP

OPERATING CHARACTERISTICS - TYPICAL [115 SUS]

Pressure | Series Volumetric Flow Q [GPM] & n = 1800 RPM Input power P [HP'| & n = 1800 RFM
port Displacement p=0PSI |p=2000PS] p=3500PSI p=100PSI |p=2000PSI p=23500 PSI

03 66 in’frev 5.14 3.61 . 2.11 8.45 >
05 | 10Sicmev | 818 6.65 5.56 2.29 12.00 19.59
06 1.30 in’/rev 10.13 8.60 7.51 2.40 14.28 ST
08 | 1.61in‘rey 12.55 11.02 9.93 2.54 N 28.53

P1 10 2.08in’frey 16.22 14.69 13.60 2.76 21.38 36.00
12 226in’hev 17.64 16.11 15.02 2.84 23.05 38.92

& 14 | 28lin’frev. | 2188 20.35 19.26 3.09 27.99 47 56

- 17 | 356 inj_rrcv 27.73 26.20 25.11 3.43 34.81 5951
20 3.89 in’frev 30.34 28.81 27.42 3.58 37.86 64.85
22 | 429in’rev 33.43 31.90 30.81 3.76 41.47 71.16
25" 484 in°irev 37.71 36.18 35.09 4.01 46.46 79.90
289 5.42in’mey 42.23 40.70 39.94%) 427 51.74 76.732
31l 6.10 in*frev 47.56 46.03 45.27% 4.58 57.95 86.06”

1) 25- 28- 31 =2500R.P.M max. 2) 28 - 31 = 3000 PSI max. int.

- Not to use because internal leakage greater than 30% theoretical flow.  Port connection can be furnished with meiric threads.

2 HOF ’ 60 www.hofhydraulic.com

wwWw.instrucenter.com/fa



i > gl gl o TR il JagmT
Enstru@e nter.com Ol oiniue Sl jagad 2z 40
Installation Dimensions mm (inch) HT6DC. HT6DCM. HT6DCP

7T/16-14 UNCx0.88 DEEP- 4 HOLES

M12x22.3 DEEP
5/8-11 UNCx1.12 DEEP ( ’ (;5;-:
~~(M16x28.0 DEEF)q HOLES", 15.7 -a8)
o 55.2 777 59.0
62.0 20.2 7.9 - 2T {3.06) . (2.32)
262 \ (2.441) NEEmE (0.31) T I s |
1.03 | sl
S 38.1 | KEY7.94/7.88 HT6DCP
s ‘ {1 50) | {0.3126/0.3106)
2.3x45°
D 9\ / (0.9x45%)
v}ﬁ ]
(=] PR S &
34 % T Shaft 3
é_gj 2% % o.3x45° no SAE splined shaft
L {( = 35 Z ~70.9x45%) Class 1-J498b
! 6L B ' 12/24 dp. 14 leeth
254/ /I 2350 | 2 § <l Shaft 3 Shaft 4 i 307 pressure angle
(1.00) (3.00) (0.9xd5% g & SAE C splined shaft no SAE splined shaft 74— {10%13) flat roat side fit
"( Shaft 2 Class 1-J493b Class 1-J498b Drain hole between double shaft seals
/3/8-16 UNCx0.75 DEEP-4 HOLES (keved no SAE) 12/24 Dp. 14 Teeth 12/24 Dp. 14 Teeth
{M10x19.0 DEEF) 30° Prassure angle 30° Pressure angle
286.0 836 Flat root side fit Flat root side fit
(11.286) (3.29) 2124
109.5 114.3 s
faan L 127 KEY 7.94/7.89 181.0
(0.50 {0.3126/0.3106) a0.5 7125
6.35 /" M10x0.79 DEEP
— /k 1 r " (0.25 MAX) S {20.0)
= = 283 _| 7 o
i3 |E M KED 9 s
me ae = b ®e
! almg o s
T R ] 3k =3
I — B =)
o= > o= > I
& | g 23xd5°| 2 | =|u
Rigl, N5 (0.9%259) 7 5 o= @
' by )
/ ] - [~ R
MOUNTING TORQUE 68 Nm {0.05x457 al= Shaft code 1
(50 ft.Ibsg) (Keyed SAE C)
MOUNTING TORQUE 187 Nm

(138 Tt.Ibs)

Performance Characteristics HT6DCP

QEERATING PHARACTERIBTICS = PYPIGAL [115 BUS].

Pressure | Series Volumetric Flow () [GPM] & n = 1801 RPM Input power P |[LIP] & n = 1501} RPM
port Displacement p=0PSI p=2000 PSI|p=3500 PSI p=100 PSL |p=2000 PS1 p =3500 PSI
14 290 inirey 22.64 2046 18.82 4.02 29.31 4934
17 3.55 inj.-"]'ev 27.68 25510 23.86 431 3520 39.64
20 4,00 in*irev 31.39 29.21 27.57 4.53 39.52 67.21
24 480 in ey 37.82 35.63 33.99 491 47.02 8032
Pl 28 5,50 in'irey 12.66 40,48 38.84 5.19 52.68 90.23
[ 3 6.00 in ey 46.75 4457 42.93 543 57.45 98.58
35 6.80 in'irev 52.79 5061 48.97 5.78 64.50 110.91
38 7.30 inYimey 5721 55.03 53.39 6.04 69.66 119.94
[ 92% 8.30 in'irov 64.68 62.50 60.86 647 78.37 135,19
457 8.90 in*irey 69.29 67.11 65.47 6.74 83.75 144,61
507 96dinrev | 7514 729 | 71.78" 7.08 90.58 13454
03 66 in’frev 514 3.61 . 2.11 8.43 -
0s 1.05 in*rrev 8.18 6.65 5.56 2290 12.00 19.59
06 1.30 in’irev 1013 8.60 751 240 1428 23.57
8 1.61 in*frev 12.55 11.02 9,93 2.54 17.11 28.53
10 208 intirey 1622 14.69 13.60 2.76 2138 16.00
12 2,26 infrey 17.64 16,11 15.02 2.84 23.05 3892
P2 | 14 281 indiev 21.88 2035 19.26 3.09 27.99 4756
17 3.56 i:13.-"re\.' 253 26200 25200 343 34 81 S0.51
20 3.89 inirey 30.34 2881 27.42 1.58 17.86 G4.85
2 429 in'frev 33.43 31.90 30.81 3.76 4147 71.16
25 4.84 in” rrev 3771 36.18 35.09 4.01 46.46 79.90
28 542 intirey 1223 40.70 39.94" 427 51.74 76.73"
| 3] 6.10 in*irey 47.56 46.03 45279 458 57.95 86.06"
1) 28 - 37 - 50°= 3000 PST ma. int. 25 42~ 45- 50 = 2200 RP.M. max

- Not o use becanse internal leakage greater than 30% theoretical flow Port conneciion can be furnished with meiric threads.

:HOF”

www.hofhydraulic.com

61
wwWw.instrucenter.com/fa



Enstru@enter.:nm

Ol el mies Dl fagad m g
HT6DCW, HT6DCMW

Installation Dimensions mm (inch)

5/8-11 UNCx1.12 DEEP

7/16-14 UNCx0.88 DEEP- 4 HOLES

(M12x22.3 DEEP)

(M16x28.0 DEEP)4 HOLES 15.7 82.6
©.62) (3.25)
302
A (2441 | \ 8.188) HT6DCMW
fo 72 : ' 254 8.64/8.58
H | | 0.00) 79 (0.34/0.33)
iy 'e\ ———’b i Q \‘(0.2?}
W - Ja T a
m| - W o 5__ _ ™ Bl
aal v Iy
99/ Lo ; el
o ) (0.33) 58
! Ak : / | B ©28.14/27.89 | kS
ac/ | ot62] 0318/ (1-1071.09) 3o
: : Shaft T el
Py (1.25) SAE J718C

540 rpm power take-off

3/8-16 UNCx0.75 DEEP-4 HOLES AL
For Farm Tractor application
(M10x19.0 DEEP) e
286.0 83.3
(11.26) (3.28)
109.5 114.3 38.1
(4.31) | (4.50) (1.50)
/_k - (N . KEY 7.94/7.89
. . —= u 48.9 _|/(0.3126/0.3106) o
<3 |E | D (1.925) | M8x0.63 DEEP o
N ) /[ 60 ©
— -t - - -(— -3 — - -
2% |g 2l -Z’;
= | = w|m
Mo \H 38 §=
H w 3|5 85
/ \__|_13x45°  SE (2
MOUNTING TORQUE 68 Nm (0.05x45°) |-
(50 ft.Ibs) S ft
MOUNTING TORQUE 187 Nm 3 a . 53 -
(138 ft.Ibs) (keyed no SAE)
Alternate connect.variables
00 & MO 01 & M1
Al 262 (1.03)| 222 (0.874)
B| 524 (2.06) 47.6 (1.874)
C| 254 (1.00) | 19.05 (0.75)

(3.25)

@17.5
(0.69)

tHOFE”

62

wwWw.instrucenter.com/fa

www.hofhydraulic.com



% e s
Enstru@enter.:nm Ol g2l imisn O jagad a2 o

Performance Characteristics HT6DCW, HT6DCMW

OPERATING CHARACTERISTICS - TYPICAL [115 SUS]

Pressure | Series Volumetric Flow QO [GPM| & n = 1800 RPM Input power P [HP| & n = 1800 RPM
purt. | | Tisplacement p=0PSI |p=2000PSI|p=3500PSI| p=100PSI p=2000PSl p=3500PSI
14 2.90 inirev 22 64 20.46 18.82 4.02 2931 49.34
17 3.55 in'irev 27.68 25.50 23.86 431 35.20 59.64
2 4.00 in*/rev 31.39 29.21 27.57 4.53 39.52 67.21
24 4.80 in"irev 37.82 35.63 33.99 491 47.02 80.32
P1 o 28 5.50 in*frev 42.66 40.48 38.84 5.19 52.68 90.23
31 6.00 in“frev 46.75 44.57 42.93 5.43 57.45 98.58
35 6.80 in*irev 52.79 50.61 48.97 5.78 64.50 110.91
| .3 7.30 in'irev 57.21 55.03 53.39 6.04 69.66 119.94
| 2% 8.30 in‘/rev 64.68 62.50 60.86 6.47 78.37 135.19
| 452 8.90 in’/rev 69.29 67.11 65.47 6.74 81.75 144 61
502 | 964intirev | 7504 | 796 | 7178 | 708 | 9058  134.54"
03 66 in’frey 5.14 3.61 2 2.11 8.45 .
05 1.05 in'irev §.18 6.65 5.56 2.29 12.00 19.59
06 1.30 in frey 10.13 8.60 7.51 240 14.28 23.57
08 161 in’irev 12.55 11.02 9.93 2.54 17.11 28.53
10 2.08 in/rey 16.22 14.69 13.60 2.76 21.38 36.00
| 12 2.26 in“irev 17.64 16.11 15.02 2.84 23.05 38.92
P2 14 281 in'irey 21.88 20.35 19.26 3.09 27.99 47.56
17 3.56 in“irev 21.73 26.20 25.11 3.43 34.81 59.51
20 3.89 in“irev 30.34 28.81 27.42 3.58 37.86 64.85
22 429 in'irev 33.43 31.90 30.81 3.76 41.47 71.16
25 4.84 in'irev 37.71 36.18 35.00 401 16.46 79.90
28 542 in‘irey 4223 40.70 39.94") 427 51.74 76.73"
31 6.10 in*/rev 4756 46.03 45279 458 57.95 $6.06"
1) 28- 31 - 30 = 3000 PST max. inl, 20 42-43- 50 =2200R.P.M max

- Not to use because internal leakage greater than 50% theoretical flow  Port connection can be furnished with metric threads.

:HOF”

www.hofhydraulic.com

63
wwWw.instrucenter.com/fa



Ensiru@enter.:nm

Ol g2l pimie Sl jugad az po

Installation Dimensions mm (inch)

HT67DC, HT67DCW

DIA 76.0
(3.00)

DIA 31.75/31.70—

18,7 - 732
(62) (2.88) 552
62.0 30.2 38.1 o
262 y ) ;
(1.08) (2.44) (1.19) (1.50) | Shaft 2 38.0
Y Keyed Shaft (1.5)
! SQ KEY
f - 7.94/7.89
F L (.313/.311)
¥ i) / Y
52.4
(2.06) TH
1 ]
r 2.3(.09
Outlet Port - -
DIA 25.%'/ x450EC
(1.00) L
Inlet Port / [3‘15'32; =

Shaft3
SAE C Splined Shaft

T7.7
3.08) 813
480 (3.28)
i o HT67DCW
r KEY 7.94/7.89
= I10.5126/0.3106)
M 488
(1.925) MEx0.63 DEEP
[ e
W= —=F
o 3
B3 9=
i B 3= &
= o
L ik
Shaft 4 — g s
Splined Shaft

(keyed no SAE)

Performance Characteristics

) (1.250/1.248) Class 1-J498b 14 Teeth  Class 1-J498b 14 Teeth
7/16™-14UNC x 0.88 DEEP -4HOLES 30 Deg Pressure Angle 30 Deg Pressure Angle
M12 x 22.3 DEEP 12/24 Pitch 12/24 Pilch
5/8"-11UNC x 1.12 DEEP -4HOLES Major Dia Major Dia
M16 x 26,0 DEEP 31.22/30.96 (1.229/1.219)  31.22/30.96 (1.228/1.219)
3/8"-16UNC x 0.75 DEEP -4HOLES Minor Dia Minor Dia
M10 x 18.0 DEEP 26.99/26.66 (1,063/1,050)  26.99/26.66 (1.083/1.050)
Flat root side fit Flat root side fit
2124
Mounting Torque (8.38) =
187 Nm (138 ft.lbs) ]
Do 109.5 114.3 381 | 836 _ 181.0
ounting Torque 2.31 4,50, |
80 Nim (89 f 1bs) (4.31) (4.50) (1.50) (3.29)
49.3
N 1] Shaft 1
A 7 J. . e (1.84) | SAE C Keyed Shaft
|| | I 7.94/7.89 SQ KEY
889 74.7 »f— pae I{(.313.311)
(3.50) (219n) @325 ‘
H-— - —-— - — - — - — a3 — —

[
739
(2.91) - 2.3 (0.09]

'E ] s e J{J"i‘;)” 2
35.27-) z
(1.39)
285 o lei27 DIAS1ZEBI70-d  MI0X200 DIA 127.0
(11.26) (:50) (1.250/1.248) (.79) Deep (5.00)

HT67DC, HT67DCW

OPERATING CHARACTERISTICS — TYPICAL [115 SUS]

Pressure Series Yol tric Flow [/min| & n= 1800 RPPM Input power P [KW] & n = 1800 RI'M
port Displacement p=0PSI p=2000 PSI | p=3630PS1 | p=100PSI | p=2000PSI | p=23630PSI

014 2,68 in'irev 20.92 19.18 17.81 3.46 FERT 47.03
017 3.36 in'irev 26.16 24.41 23.04 3177 33.88 51.71
020 4,03 in’frev 31.39 29.64 28.27 4.07 319958 6H8.39
022 4.29 in'frev 33.43 31.69 30.32 4,19 42.37 72.57
124 4.95 in'frev 3857 36.82 3545 4.49 4% 36 33.06
Pl 028 5.49 in'frev 4280 41.06 39.69 4.74 53.30 91.70
31 6.05 in'frey 47.18 45.43 44.06 4.90 58.41 100.63
035 6.92 infrev 5393 5218 5081 539 66.29 11442
038 7.36 in'frev 57.35 55.61 54.24 5.59 70.28 121.42
042 8.39 in'/rev 65.39 63.65 6228 6.03 79.66 137.83
045 B.89 in'frev 69.29 67.11 65.31 6.74 83.75 145.79

050 9.64 in’irev 75.14 72.96 71.78 7 7.08 90.58 134.50 "

p=0PSL | p=2000PSL | p=4000 PSL | p=100PSI | p=2000PSI | p= 4000 PS1
003 66 10’ rev 5.14 3.85 . 2.11 8.45 -

005 1.05 in'frev 218 6.89 5.68 2.29 12.00 19.81
006 1.30 in'frev 10.13 .84 7.63 2.40 14.28 23.79
008 1.61 in'/rev 12.55 11.26 10.05 254 17.11 28.75
010 2,08 in'frev 16.27 14.93 13.71 2.76 21.38 36.22
012 2.26 in'frev 17.64 16,35 15.14 2.84 23.05 39.14
P2 014 281 infirev 2188 20.59 19.37 309 27.99 47.78
017 3.56 in'frev 27.73 26.44 2522 3.43 34.81 59.73
020 3.89 infrev 30.34 2905 27.84 358 3786 65.07
02| 429 inTirev 343 3214 3093 3.76 4147 7138
025 4.84 i frev 37.71 36.42 3521 4.01 4646 20.12

028 542 in'frev 42.23 40,94 40327 4.27 51.74 76,73

031 wins| 65,10 in'frev 47.56 46.27 45.65 " 458 37.95 86.06 "

1 050 - 028 - 031 = 3000 P51 max. int.

- We da not recommend wsing (003 at 4000 PST & 1300 RPAM as the internal leakage is over 50% of thearetical flow.

HOF”

64

wwWw.instrucenter.com/fa

www.hofhydraulic.com



Ol el mies Dl fagad m g

Enstru@enter.:nm

Installation Dimensions mm (inch)

1/2-13 UNCx0.92 DEEP-4 HOLES
{M12x23.4 DEEP) i T - 619
3/8-16 UNCx0.75 DEEP 4 HOLES \ e (2.44) 55.9 62.2
(M10x19.0 DEEF) 9.6 \ : (2.20) {2.45)
2.75] \ 357 . S 79 7.9
26.2 ” \ a0 1 | @31 037 {0.31)
{1.031) | \ i = ] ]
- \ e H 381
\ o .
§ \| | T1.50) | KEY7.94/7.89
; CD\ {0.313/0.311)
— o D I /
| | 5} 3
i @ {13 3 :
kst - = = =
2 ‘é e<I,' ; _@ i v f
I O | D é_ =® |Z 2,3xa5° || 2.3:x45° |
:Jf'r | \—f‘—‘) j 5N K= {0.09x459) {0.09x45%)
5 B g
A [l asase | N “’%
| - <l | {0.09%457) s
@254 288.9 loara — Shaft 3 ~ Shaft 4
{1.00) A (3.50) {1.48) Shaft 2 SAE C splined shaft SAE CC splined shaft
4
3 (keyed non SAE) Class 1-4498b Class 1-J498b
/5811 (ki'\:faxxlas;g EEE;“ HOLES 12/24 dp. 14 teeth 12/24 dp. 17 teeth
' 30" pressure angle 30° pressure angle
—_ 09 Flat root side fit Flat root side fit
: 13,
136.7 (15.08) 1185 52.3 (3.58) (g 312}
5.38 4.665, 2.0 :
(5.38) (4.665] [2.08) 121 tain
0.50 (7.125)
| 73 635 KEY 9.52/9.47 | 90.5
: L : [0.375/0.373) 13:568)
f (0.25 MAX.) ! :
. 50.8 M10x0.79 DEEP
B ["(2.00) / {20.0)
NE 25 P ‘
— = H 5| € I~
32 |E g% LE 7 4/ 83
= o — 5
a | 8 g
o f = T o=
i it 1 I ¥ 68 S g
| LA
L S | 1 3 & 8
sl =
o3 B 2R i = H ?_ g
A E 8o | g8z I3 i 8=
s — By — 8% g
f= 2 = 25 9|8
! 1.3x45% | 2.a3x45° = g_ i
{ MOUNTING TORQUE 68 Nm (0.05x45°) Domasy — Q= T MOUNTING TORQUE 187 Nm
(50 ft.lbs) - (138 ft.lba)
a
(Keyed SAE GG}
- 97.7 Shaft code T
0an {3.85) SAE J718C
79 6a7 540 rpm power take-off
| 2.3x45° 0.31 —2677] | ForFarm Tractor application &
(0.09x45%) — f Bl
| .38.0_ E
[
i o
HTGECP 70 8.64/8.58 2[5
10.27) (0.34/0.33) al=
L
Shaft code 3 &) -
no SAE splined shaft JJ’ \Q) @
7 Class 1-J498h - .];
8 12/24 dp. 14 teeth Vo=ls T
| | 30° pressure angle Ho,za‘. 9\," 2
tlt flat root side fit | 68 Bz @28.14/27.89
| 853 ! {1.107/1.088)
_._'_W Drain hole between double Shaft seals [ HT6ECM
u
:HOE
65 www.hofhydraulic.com

wwWw.instrucenter.com/fa



> T L. Y -
Enstru@e nter.com Ol oiniue Sl jagad 2z 40
Performance Characteristics HT6EC. HT6ECM. HT6ECP

OPERATING CHARACTERISTICS - TYPICAL [115 SUS]

Pressure | Series Volumetric Flow Q |GPM] & n = 1800 RPM Input power P [HP] & n = 1800 RPM
port Displacement p=0PSI |p=2000PSI p=23500PSI| p=100PSI p=2000 PSI|p = 3500 PSI

042 | 807 in/rev 62.92 60.37 58.52 8.09 78.44 133.80

045 870 in’frev 67.72 65.17 63.32 6.87 82.09 141.51

. 050 | 9.67 in'/rev 75.38 72.83 70.98 7.32 91.02 157.15
052 10.00 in’frev 78.37 75.82 73.97 7.49 94.52 163.27

062 | 12.00in°rev 9354 | 9099 8914 | 838 11222 | 19425

066  13.00 in’frev 101.44 98.89 97.04 8.84 121.43 210.37

072 13.86 in'/rev 108.00 105.45 103.60 9.22 129.09 223.77

003 66in‘rey S04 | 361 . | 3it | k48 .

005 1.05 in’frev 8.18 6.65 5.56 2.29 12.00 19.59

006 | 1.30in’frev 10.13 8.60 7.51 2.40 14.28 23.57

008 1.6l in'irev 12.55 11.02 9.93 2.54 17.11 28.53

010 2.08in'frev 16.22 14.69 13.60 2.76 21.38 36.00

012 2.26 in’frev 17.64 16.11 15.02 2.84 23.05 38.92

P2 014 | 281 in’frev 21.88 20.35 19.26 3.09 27.99 47.56
017 3.56 in/rev 27.73 26.20 25.11 3.43 34.81 59.51

020 3.89 in’frev 30.34 28.81 27.42 3.58 37.86 64.85

022 429inYfrev 3343 31.90 30.81 3.76 41.47 71.16

025 4.84in’frev 37.71 36.18 35.09 4.01 46.46 79.90
028  5.42in'frev 42.23 40.70 39.94" 4.27 51.74 76.73"
031 6.10in fev 47.56 46.03 45271 4.58 57.95 86.06"

1028 - 031 = 3000 PS{ max. int. - Not to use because internal leakage greater than 50% theoretical flow
Port connection can be furnished with metric threads.

2 HOF ’ 66 www.hofhydraulic.com

wwWw.instrucenter.com/fa



| !nl - [ ] 3 = -
Enstru@enter.:nm Ol g2l imisn O jagad a2 o

Installation Dimensions mm (inch) HT67EC
1/2-13 UNCx0.92 DEEP-4 HOLES
(M12x23 .4 DEEP) 1 61.9
3/8-16 UNC0.75 DEEP 4 HOLES | 17.5 (244) 55.9 62.2
(M10x19.0 DEEP) &b oo 2.20) (2.45)
26.2 (2.75) \ ‘SE"ﬂ ((1?1) 73 (U}T;)
{1.031) | si=] — | B —
p ¥ i - 38.1 ] ]
N ! 7| KEY7.94/7.89 38.1 _ 315 _
il 129 Nosinsin .50 ‘ (i.24)
L /z\ L
g 4.1 . i 5 I == g 1 =
35 e é 8 KI o p—— g
=R | Rz |3 2.3%45° || 2.3x45°% ||
= ]; J @ ! o BN IZ 7] (0.09x45°) 7] (0.08x45)
1 B . ! 2.3%45¢ Blg 83
- " posasT — BlS  I=
|B25.4 ; 068.9 — Shaft 3 ~— Shaft 4
{1.00) / (3.50} Shaft 2 SAE C splined shaft SAE CC splined shaft
e T SRS 2024 . 14 et S2ioe dp. 17 et
' ’ 307 pressure angle 30° pressure angle
3318 50.9 Flat root side fit Flat roat side fit
{13.08) (3.58) 213.0
o o=
(0.50)
| [ (;3911 - KEY 0.52/9.47
: i : 025 MAX] /10.375/0.373)
! 50.8 M10x0.79 DEEP
| e {2.00) £ (20.0)
5 - a— il 3 | 4
E g | e |~ T é g
=7 oo Bl
=PRSS T (s
k=3 Lo o u
SE— 32 de 37
i — ) 828
-
Xf 2xa50 || g g &
MOUNTING TORQUE 68 Nm 4 Coeaen) i
' ey e Shatt 1 EROOTRSREEEEI,
(Keyed SAE CC)
Performance Characteristics HT67EC
OPERATING CHARACTERISTICS — TYPICAL [115 SUS]
Pressure Series \fu!umetric Flow ‘|G1’M] & n=1800 RPM Input power P |[HP] & n = 1800 RPM
port ' Displacement [ p=0PSI | p=_2000 PSI | p=3500 PST | p=100PST | p = 2000 PSI | p = 3500 PSI
042 8.07 in'/rev 62.92 60.37 58.52 8.09 78.44 133.80
045 8.70 in*/rev 67.72 | 65.17 63.32 8.37 84.04 143.60
050 9.67 in*/tev 75.38 ' 72.83 70.98 8.82 92.97 159.24
052 10,00 in’/rev 78.37 | 75.82 73.97 8.99 96.47 165.36
054 10.43 in/rev 81.27 | 78.72 76.87 9,17 09.75 177.46
P1 057 1118 in'/rev §7.12 | 8457 82.72 .51 106.57 189.84
062 12.00 in“/rev 93,54 90.99 89.14 .88 114.17 196.34
066 13.00 in'/rev 101.44 | 08.89 97.04 10.34 12338 212.46
(072 13.86 in'/rev 108.00 10545 103.60) 10.72 131.04 225 86
085 16.40 in/rev 127.79 | 126.137 E 11.88 101.66 1 :
p=0PSI | p—2000PSI | p-4000PSIL | p—-100PSI | p - 2000 PSI | p— 4000 PSI
003 66 in'lrey | 5.14 | 3.85 - 2.11 8.45 -
005 1.05 in'/rev B.18 | 6.89 5.68 229 12.00 19,81
006 1.30 in/rev 10.13 | §.84 7.63 2.40 14.28 23.79
00R 1.61 in'/rev 1255 | 11.26 10.05 2.54 EL 28.75
010 2.08 in'/rev 16.22 | 14.93 13.71 2.76 21.38 36.22
012 2.26 in'jrev 1764 | 1635 15.14 2.34 23.05 39.14
P2 014 2.81 in/rev 2188 | 2059 19.37 300 27.99 47.78
017 3.56 in'/rey 2173 | 2644 2522 | 343 | 3481 59.73
020 3.89 in'/rev 30.34 29.05 27.84 3.58 37.86 65.07
022 4.29 in*/rev 33.43 | 32.14 30.93 3.76 41.47 71.38
025 4.84 in"/rev 37.71 [ 36.42 35.21 4.01 40,46 80.12
028 542 in'/rev 4223 | 40094 40327 427 51.74 76.737
| 031 | 6l0inrev | 4736 | 4627 | 45657 | 458 | 5795 86.06”
- We do not recommend using 003 at 4000 PS1 & 1500 RPM as the internal leakage is over 50% of theoretical flow.
f) 0835 = 1300 PST max. int. 2) 025 —031 = 3000 PSI max.

: HOF ’ 67 www.hofhydraulic.com

wwWw.instrucenter.com/fa



Ol el mies Dl fagad m g

o
nstruCenter.:nm
Installation Dimensions mm (inch) HT6ED, HT6EDM, HT6EDP

5/8-11 UNCx1.18 DEEP-4 HOLES "%’
(M16x30.0 DEEF) i 175
7/16-14 UNCx0.94 DEEP4 HOLES / (0.69) e
\ {M12x24.0 DEEF) / 79 = 62.2
302 R/ D (s - A— 637 (220 {2.45]
(1-189) fm) - gieane) — . 2.3xa6° 7.8 |
¢ .1 = o dsxas) 050

38.1
(1.50)

gt
|

|
. g BT 381 |
o dv | NRES KEY 7.94/7.89
. | ~10.3126/0.3106)
GEHN |

J

o w| |8
|l 13 | | N {1 I ._ = ]
@ 32 () =
O i 9; e ~
| | R g . g 2.3x45° | 2.345° |
- [, b ] ay (0.09x45°)
! { / o2 (0.09%45°) 3
ﬂ l 0/ O »'l"'ii"'H €3 53
! i o e i 5 2
©29.5 / i = al=
6 1016/ @37.1 ! t
(4.00) (1.46) / Shaft 2 Shaft 3 Shaft 4 .
1/2-13 UNG x0.92 DEEF 4 HOLESIl (Keyed no SAE) SAE C splined shaft SAE CC splined shaft
{M12x23.5 DEEP) Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth 12/24 dp. 17 teeth
307 pressure angle 30° pressure angle
361.0 90.9 Flat root side fit Flat root side fit
(14.21) (3.58)
148.2 . 1335 523 213.0
{5.84) {5.26) (2.08) 127 (8.386)
: 181.0
7.9 (.50 _ {7.125]
(037 KEY 9.52/3.47 :
| 0.25 MAX. [0.375/0.373)
i f L —-|—| 16.35)
/J _'_' ey . 2.00 M10x0.79 DEEP
= g ,'? j (50.8) (20.0)
ai=] = |
s3 - g 3 & E / o
=had =l = L
P LA/ HE
TN [ R B s | I o|8 B3|
& 58 2
L. B 1=
o o5 — 5 4P
3 o] &= — al2
] N i . 8 g @ é
@
N 235 | 2|2 FE2
(0.09x45°) =g T2
& |2 o
1.3x45°% @R |2
MOUNTING TORQUE 187 Nm T0.05:5 Q= MOUNTING TORQUE 187 Nm
(138 ft.lbs) {138 fi.Ibs)
Shaft 1
(Keyed SAE CC)
78 Shafi T
031" SAE J718C
’ 7.9 540 rpm power take-off
,"]I 2.3x%45° 0.31) & For Farm Tractor applicatian o
/ "(0.09x457) .
2e
= -
HTG6EDP 8.64/8.58 2K
0.34/0.33) B2
1 { Shaft 3 =
no SAE splined shaft &
7 Class 1-J498b
L 12/24 dp. 14 testh
| | 30" pressure angle
| flat roct side fit ©28.14/27.88
=53 prin hole betwsen double Shaft seals ] (1.1071.098)
021 HT6EDM ,HTGEDP

: HOF ’ 68 www.hofhydraulic.com

wwWw.instrucenter.com/fa



Enstru@enter.:nm Ol oiniue Sl jagad 2z 40

Performance Characteristics HT6ED, HT6EDM, HT6EDP

OPERATING CHARACTERISTICS - TYPICAL [115 SUS]

Pressure |Series Volumetric _ Flow Q [GPM] & n = 1800 RPM . Input power P [HP] & n = 1800 RPM
port Displacement p=0PSI |p=2000PSI p=3500 PSI p =100 PSI p=2000 PSI|p = 3500 PSI
042 8.07in'frev | 6292 60.37 58.52 809 | 7844 133.80
045 870infrev | 67.72 65.17 63.3 6.87 | 82,09 141.51
- 050 9.67 inB:’rev 75.38 72.83 70.98 7.32 | 91.02 157.15
052 10.00 in*frev 78.37 75.82 73.97 749 | 9452 163.27
| 062 12.00in*rev | 93.54 90.99 8914 | 838 | 11222 | 1945
066 13.00 in*/rev 101.44 98.89 97.04 8.84 121.43 210.37
072 13.86in°fev | 108.00 105.45 10360 922 129.09 | 22377
014 2.90 in*frev 22.64 20.46 18.82 402 | 2931 49.34
017 3550 ey 27.68 25.50 23.86 431 | 3320 59.64
020 400in*rev | 3139 29.21 757 | 453 39,52 67.21
024 480in‘frev | 3782 35.63 33.99 491 | 47.02 80.32
P2 028 5.50 in’frev 42.66 40.48 38.84 519 | 5268 90.23
031 6.00 in’frev 46.75 44.57 42.93 543 | 5745 98.58
035 6.80 in’frev 52.79 50.61 48,97 578 | 6450 110.91
038 730infrev | 5721 55.03 53.39 604 | 69.66 119.94
042 830in'frev | 64.68 62.50 6086 647 78.37 135.19
045 890in'rev | 6929 67.11 65.47 674 | 8375 144.61
050 9.64 in’/rev 75.14 72.96 71.78" 708 | 9058 134.54"
4 030 = 3000 PST max. int. Port connection can be furnished with metric threads.

: HOF ’ 69 www.hofhydraulic.com

wwWw.instrucenter.com/fa



Ol el mies Dl fagad m g
HT7ED, HT7EDS

En stru@e nter.com

Installation Dimensions mm (inch)

12/24 dp. 14 teeih
307 pressure angle

12/24 dp. 17 tzeth
30° pressurs angle

5/8-11 UNCid.18 DEEP-4 HOLES ‘g:i.l
[M16x30.0 DEEF) i L o O T
7/16-14 UNCx0.64 DEEP4 HOLES / 10.69)
5 {M12x24.0 DEEP) / | 78 .9
J _asz S £ (3.54)
12.08) | {1408 0.3 T W
: = g R - HT7ED , HT7E
: L 1 1[__ = 0.08x45%) ' DS
1 384 . -
ON—| L1 17 s s o S,
TN oF {rategiasds) /| mioxo7spCce
I I S S e
! - -
—g--JgE - =¥ | |3
] FATLSE i &
f e I s [}
| & ez [ = 2
y fol ] 53 S TSN - o
{ = = D0.00x45" o T
| G} "!'.' E E E {D.0Ax457) Er E‘ (8
| o |- a3 = g3 |z
3 ! " i al= =
?:111?3? 2101 8/ asr./ / t = | exa5® L) 62
2.00) .46 / Shatt 2 Shaft 3 Shaft 4 Shaft 5
1/2-13 UNC x0.82 DEEP4 HOLES/ [Keyed no SAE) SAE C splined shaf: BAE CC splined shaft .
(M12523.5 DEEF) Class 1-J498h Class 1-J49Bb (Keyed ISQ RY7S - G38M;

361.0 90.9 Flat rool side fit Flat root side fit
(14.21} (3.58)
- 148.2 183.5 523 2 213.0 =
(5.4} (5.26) (2.08) i {8.336)
K
(gfﬂ -lF KEY 0.52/9.47
| 0.25 MAX /(0.375/0.373)
: — T 16.35)
I - 200 | // M10x0.79 DEEP
= S :I— 150.8) | / (20.0)
a5 : = <[ m ;
=2 1] 25 s
=% i d : ;
L L 1/
4 o=
s __________:_____.\_\________{?i g3 g
=] o % e .
ol 2 a | = J
& 3-— : w m§
' 23a5 || 2 % aF
S omas =5 <|E
s ) axd5® =l = ]
/MOUNTING TORQUE 187 Nm == ghaft1 ©IT / MOUNTING TORQUE 187 Nm
(138 ftibs} (keyed SAE CC) 1138 fLIbe)
Alt ts ting flange
Series as ax45° w K oD
MAX. IMin.
HT7ED | 124.90 (4.921) [124.94 (4.919) | 20(0.079) | 9.49(0.374) | 180.0(7.087) | 18.0 (0.709)
HT7EDS| 127.00 (5.00) | 126.84 (4.998) | 1.3(0.061)| 12.7 (0.50) 181.C[¢.126)| 175 (0.689)

Performance Characteristics HT7ED, HT7EDS

OPERATING CHARACTERISTICS — TYPICAL [115 SUS]

Pressure Series Volumetric Flow [GPM] & n= 1800 RPM Input power P |[HP] & n = 1800 RPM
port : Displacement p=0PSI p=2000DPSI | p=3500PSI | p=100PSI | p=2000PSI | p=23500 PSI
042 8.07 in’frev 62.92 60.37 58.52 8.00 78.44 133.80
045 R.70 in’/rev 67.72 65.17 63.32 837 §4.04 143.60
050 9,67 in'/rev 75.38 72.83 70,98 8.82 92.97 159.24
052 10.00 in*/rey 7837 75.82 73.97 8.99 96.47 165.36
034 10.43 in*/rey 21.27 78.72 76.87 9.17 99.75 177.46
Pl 057 11.18 in'/rev 87.12 84.57 8272 9.51 106.57 189.84
062 12.00 in*/rey 93.54 90.99 89.14 9,88 114.17 196.34
066 13.00 in*/rev 101.44 98.89 97.04 10.34 123.38 212.46
072 13.86 in’*/rev 108.00 105.45 103.60 10.72 131.04 225.86
085 16.40 in'frev 127.79 126.13 Y = 11.88 101.66 " .
p=0PSI p=2000PSL | p=3630PSI | p=100PS1 | p=2000PSI | p=23630 PS]
012 2.68 in'frev 20.92 19.18 17.81 346 27.77 47.03
017 3.36 in'/rev 26.16 24.41 23.04 a5 33,88 57,71
020 4,03 in'frev 31.39 29,64 28.27 4,07 39.98 68,39
022 4.29 in'frev 33.43 31.69 30.32 4.19 4237 72.57
24 4.95 in'frev 38.57 36.82 35.45 4.49 4836 83.06
P2 028 5.49 in*frev 42 80 41.06 39,69 474 53.30 91,70
031 6.05 in’/rev 47.18 4543 44.06 4.99 58.41 100.63
035 6.92 in’frev 53.93 52.18 5081 5.39 66.29 114.42
038 7.36 in'/rev 57.35 55,61 54.24 5,30 70.28 121.42
042 8.39 in'/rev 65.39 63.65 62.28 6.05 79.66 137.83
045 8.89 in'/rev 69.29 67.11 65.31 6.74 83.75 145.79
050 9 64 in'frev 75.14 72.96 71.78 7 7.08 90.58 134.50 7
1} 085 = 1300 PSI max. int. 2) 030 = 3000 PSI max. ini..
h [ |
[ |
TlO F 70 www.hofhydraulic.com

wwWw.instrucenter.com/fa



	Page 48 HT6GC Features.pdf
	Page 49 HT6GC.pdf
	Page 50 HT6GC.pdf
	Page 51 HT6-HT7-HT67.pdf
	Page 52 HT6-HT7-HT67.pdf
	Page 53 Specifications Pump HT6CC-CW, HT6DC-CW, HT6EC Series industrial.pdf
	Page 54 Specifications Pump HT67DC-CW, HT67EC, HT6ED Series industrial.pdf
	Page 55 Specifications Pump HT7ED,HT7EDS Series industrial.pdf
	Page 56 Specifications Pump  HT6CCM-CP-MW, HT6DCM-CP-CMW, HT6ECM-CP Series Mobie.pdf
	Page 57 Specifications Pump  HT6EDM-P Series Mobie.pdf
	Page 58 HT6CC-HT6CCM.pdf
	Page 59 HT6CCW-MW-P.pdf
	Page 60 HT6CCW-MW-P Performance.pdf
	Page 61 HT6DC-CM-P.pdf
	Page 62 HT6DCW-MW.pdf
	Page 63 HT6DCW-MW Performance.pdf
	Page 64 HT67DC-W.pdf
	Page 65 HT6EC-CM-CP.pdf
	Page 66 HT6EC-CM-CP Performance.pdf
	Page 67 HT67EC.pdf
	Page 68 HT6EDM-P.pdf
	Page 69 HT6ED-M-P Performance.pdf
	Page 70 HT7ED, HT7EDS.pdf

